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Feasible : A
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B
, D,E
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H
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¥28,1T> ④¢ > E.A, B

D is the best bundle we
can afford.

It is the utility - maximizing
bundle subject to our budget
constraint

.
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Observation : The budget
constraint is tangent to

the indifference curve

at the utility maiming
bundle .



↳ The slope of the

budget constraint is

equal to the marginal
rate of substitution
at the utility Max . bundle .

Slope of budgetconstraint =
-

MRS ✗y
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M sit. Income -- cost=P✗Qr
1- Pyay

this it fixed



MU✗ Py = Px.MUy

^÷=:÷
marginal utility per

$ spent is

the same for both goods !

Implications :

Iouit-y
maximizing and face the
same, lineal, prices

then everyone has the same
MRS between the two goods



So long as they are consuming
atleast some of each .
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• Special cases : corner solutions

•



ULX, Y) = 5 ✗ tzy

Inane = $50

Px = $4

Py = to 1

MRS, = -1¥

1¥ ÷

EET
spend all $ as g : 50

→ 100

Spend all $ on ✗ : 12.5→ 62,5



(0,507

UCX,g) = ✗y

Income = $10

Px = $2

Py = $1

- MRS , = -1¥
-1--7



1=2 ☒
Remember need to spend

all our income .

$10 =P✗Qxt Pyay

10=2×1-1 -y

[ ¥=z → y = zx

10 = 2 ✗+z%
2- 2.5

y --5

10=4 ✗

2.5 -_ ✗ (Z5



UCX
,
Y ) = ✗

' s-y.si
Income = $100

Px = $5

Py = $2

step 1 : MRS 1¥
Mox
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step 2 : Income = cost

$100 = PxQxtPgQg

too = 5✗ 1- 2g

Step 3 : solve systems of equations

Y = E. 10Y = { ✗

100 = 5×+215-1%4=28
100--5×+5✗
too = 108 & ✗ =

10110,257J


